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Retail Sales Allocation Tool (RSAT) 

Agenda 

• What is RSAT (30 Minutes) 

• Questions (15 minutes) 

• Break (15 minutes) 

• Potential Uses of RSAT (30 minutes) 
– Case 1 

– Case 2 

– Case 3 
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Definitions 
• Upstream incentives:  

– Incentives provided to manufacturers or retailers to induce 

change in stock practices 

• Leakage:  

– Installation of qualified product outside of the service 

territory 

• Breakage:  

– Purchase and installation of qualified product within the 

service territory, yet no rebate/incentive application is 

submitted 
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Upstream programming is cost-

effective, but we need to know: 

 

• Where are products going? 

• Does distance play a role? 

• How to handle border stores? 
 

With data and analytics we   

developed a Retail Sales Allocation 

Tool (RSAT) to help us better 

understand customer behavior. 

Retail Sales Allocation: Why 
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We also need to know about our 

customers: 

 

• Who are they?  

• What are their shopping 

preferences?  

• How do different products adjust 

shopping behavior? 

Retail Sales Allocation: Why 
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How RSAT Works 
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Distance rings don’t account 

for key factors such as: 

 

• Geographic obstacles like 

rivers, bridges, lakes, etc. 

• Road types, speed limits 

• Urban density  

 

 

Drive Time, Why Does It Matter?  
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Distance is  

measured in time 

• Area in blue represents 

10 minutes of drive 

time from the same 

store. 

• Notice all the populated 

areas that are within 

the ring but not within 

the drive time. 

 

 

 

Drive Time, Why Does It Matter?  
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How far customers  

drive also depends on 

the product 

 

• Some products 

naturally draw from 

larger trade areas 

 

• One location may 

have multiple trade 

areas due to the 

different products  

 

 
 

Drive Time by Product 
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Drive Time, Other Factors 

Retailer 
• Different brands 

draw different 

customers 

Urban Density 
• Where customers 

live influences how 

long they are 

willing to drive 

VS 
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RSAT Model 
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Retailer Trade Area, Segments 

PECI uses The Mosiac 

Segment Classification  

(72 US market segments).  

 

GreenAware Segments are 

weighted more heavily 

file://pdx01dot-nas02/Public/Public/Residential Data Analysis and Forecasting/09 Resources/Mosaic/Mosaic 2006/Green Aware White Paper.pdf
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Retailer Trade Area, Segment Ex. 

Profile Q62 “Reaping Rewards” 
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Retailer Trade Area, Core Segments 

Core Segments: Each retailer 

chain has an identifiable profile 

of most frequent shoppers 

 

RSAT oversamples 

Greenaware and Core 

Segments per zip code to 

identify those who are more 

likely to shop for energy 

efficient products 
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Retailer 

10 Minute  

Trade Area 

 
Zip Code 

Boundaries 

•  GreenAware Households 

30 

250 

45 15 

•  Retail Profile Dominant Households 

30 

250 

45 15 

350 

300 

5 

10 

• All Households 

30 

250 

45 15 

350 

300 

5 

10 
125 

1000 

1250 

50 

1800 
Utility A = 900 

Utility B = 900 

165 
Utility C = 165 

1395 
Utility B = 697.5 

Utility C = 697.5 

70  
Utility B = 70 

Utility A (900 / 3430) = 26%  

Utility B (1667.5 / 3430) = 49% 

Utility C (862.5 / 3430) = 25% 

Total Trade Area Score = 3430  



16 

RSAT Allocation by Utility, The Math 

Let p=1 if the utility is the primary and 0 otherwise;  m=1 if utility is a 

municipal and 0 otherwise; U=number of Utilities, M=number of 

municipal utilities. Then the weight w  of the 𝑖𝑡ℎ utility is expressed: 

 
𝑊𝑖 =

𝑝𝑖 + 𝑚𝑖 + 1 

𝑈 + 𝑀 + 1
 

 

Thus, the Total Utility Score  = ∑ 𝒁𝒌 𝑾𝒊  

 

Where  𝑍𝑘 is the weight of the 𝑘𝑡ℎ zip code for the retailer, given the 

market segment distribution 



17 

• Ease of implementing upstream cost 

effective incentive models  
 

• Access to smaller utilities to  

upstream models 
 

• Leakage estimates (prior to evaluation) 
 

• Insights for Net to Gross savings 

adjustments prior to evaluation 
 

• Choice of most equitable locations  

to include in programs 
 

• More targeted and/or effective 

marketing 

Retail Sales Allocation Tool Provides: 



Questions / Discussion 



15 Minute Break 



RSAT Potential Use Cases 


